
Y5 – Autumn – Block 3 – Step 3 – Factors Answers

Question Answer

1
a) 2 and 8 are both factors of 16
b) There are 3 rows of 5 and 1 counter left over.

2

a) 20 counters in 2 rows/columns of 10
b) 20 counters in 4 rows/columns of 5
c) 20 counters in 3 rows/columns of 6 and 2 counters left over

3

a)

1, 2, 3, 4, 6, 12
b)

1, 2, 3, 4, 6, 8, 12, 24

4

a) 1, 2, 4, 8, 16, 32
Check that all the factors have a pair or work systematically through all numbers     
starting at 1 until they reach a repeat of a factor already found.

5

a)

b) 45 or 90

6

a) No
1 and 11 are factors of 11

b) 23

7

8 20, 30 and 40 are multiples of 10, not factors.

9

a) Multiples of 5 end in 0 or 5
b) The digits of multiples of 3 sum to a multiple of 3. 1 + 7 + 7 = 15, which is a multiple 

of 3. 1 + 7 + 8 = 16, which is not a multiple of 3
c) 180 ÷ 20 = 9. 190 is 10 more than 180 so 20 cannot be a factor.

64

1 × 24

2 × 123 × 8

4 × 6

✔



Y5 – Autumn – Block 3 – Step 3 – Factors Answers (continued)

Question Answer

10

sometimes true
If a number is a square number, then it will have an odd number of factors because one 
factor pair is the same number twice e.g. 16 has five factors, 1, 2, 4, 8, 16
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